Ratio to CMS

1000/0 2do)/d(m_1 + m_2) [1/GeV]

=
o
w

[HEN

=
<
[N

1072

1073

0.5

7000 GeV pp Z+Jet
| T I T I T I T I T | T I I I I T | T I T I T I T I ﬂ
= =
= Jet mass (anti-kT(O.7), 220<p_<300, ly|<2.5) =b
~ ]
o
—— — m
= =R
= i)
—
- =
= =0
— - E
- =
| |
B o
—— — (Y)
— pu— ﬂ'
— —qm
— "o
o
B 1M
|
= m CMS PREE
—  —a— Pythia 8.212 default B s
— - -a-- Pythia 8.212 default-CD LT s
= --&-- Pythia 8.212 default-DL ==
— 4 Pythia 8.212 default-MBR 38
- ! I 7))
. _|o
= T O
= . 39
| | ! ! ! | ! ! ! ! | ! L =
:l T T T T | T T T T | T T T : I:
— A 32
, 1
| —0.5
| " 1 " 1 ! 1
0

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


